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SECTION - | _ |
MATHEMATICS & SCIENCE

1A small metal ball is suspended in an
uniform electric field with the help of an
insulated thread. If a high energy X-ray
beam falls on it
(A) The ball will not deflected at all.

(8) The ball will be deflected opposite to the
direction of field.

(C) The ball will be deflected in the direction
of field.

(D) The ball will move to infinity.

The rate constant for the first order reaction
is 60 s~ The time in which it reduce the

th
concentration of the reactant to 1

16

value

is |
(A) 46 seconds

(B) 46 x 10~ 2 seconds
(€) 46 x 107 seconds

(D) 2 seconds

s If a body loses half of its velocity on
penetrating 3 ¢cm in a wooden block, then

how much will it penetrate more befor.c_-|

coming to rest ? |

ReRis gos~t & | 98 W R

afeRE @ g LT A I8 S
16

g -

(A) 46 AHUSI

(B) 4.6 x 1073 d=vzw
(€ 4.6 x 1072 dvosw
(®) 2 JAHTSH

e TF o desl & TP ghe W
FG Jum A mm dm @ d g A
frar iR duw e R
fRTTgRn § M Y ?

3
B
f&

(A) 1 cm (8) 3cm (A) 1 cm (8 3 ¢m
(€) 2cm (D) 4 cm © 2 cm (D) 4 cm
Page: 2 = ——
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If pendulum bob on a 2 metre string is |4

displaced 60° from the vertical and then

released, what is the speed of the bob as it is |

passes through the lowest point in its path ?
(A)

V2 m/sec ® V2x98 m/sec |
(©) 4.43 m/sec (o) 1
— m/sec
\2

n n n s 5
t"p = Pr—l and Cr = cr+1’ thenl!

thevaluesofnandr
(A) n=5,r=4

S n=4,r=5

Blns3r=2
PIn=2,r=3

At the magnetic poles of the earth, a|s

compass needle will be
(A) Vertical (B) Bent slightly

(O Horizontal

(D) Inclined at 45° to the horizontal

The value of x in the following series : 7.

1+6+11+16+......+x =148
(A) 38 (B) 36
() 37 (D) 39

The half-life period for a zero order reaction | &

= fdg @ R ® &7 7 B 2
A 5 AR 8 7xgg WA
(©) 4.43 #HRA @ 1 #RA

V2

n 3R r &1 949 8 -

W n=5r=4 B =37 =2
IC]n=4r=5 [D]n-z'r=3
Ril & gEIN g4 R TG FEE B
< Erft -

(A) Fegfer

(®) gl A T &S

© &

O &0 & 45° R FH 8
FrafolRaq st §  , &1 99 8 -

1+6+M+16+ ...+ =148
(A) 38 (B) 36
(©) 37 (D) 39

I B # affewr & fog g sl

is equal to Pl a6 ¢ -
(a) 2K (8) 0.693 (A) 2K (8) 0.693
(Al K[Al, [alo K[Al,
© [A], () 0.693 © [Al, (o 0.693
2K K 2K K
Page:3 623403
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—— R 'vi?iﬁ'

of mass 3 kg and 6 kg. The velocity of mass 3

q
kg is 1.6 m/sec. The kinetic energy of mass 6 3 kg i
kg is camqr A st St grft

8
(a) 192 Joule (® 9 6 Joule A 1,92 el (® 9.6 S
(C) 3.84 Joule {®) 2 92 Joule (©) 384 i (0) 2,92

mlhomqaimr(ﬂﬁqmﬂmﬂﬁﬂi

A partcle is projected at 60 _
the  wym v uafa fear o g @ I

horizontal with a kinetic energy K

kinetic energy at the highest point 1s ﬂq ¥ nforst Giﬂf B’f'ﬂ -
in K 8) K TR (8) K

: 4
©) zero o) K © g1 (D) PS
2

-
L

- The number of moles of KMnO, that will ' 11 KMnO, * Al F G N T

he needed to react completely with one|  aiffide & 1 A g iy fdema =
mole of ferrous oxalate in acidic solution is qufer frar & fav s & -

ia 4 ® 3 TR 8) 3
5 5 | 5 5

@ 2 ©) 1 @ 2 (0) 1
5 | 5

PAC e o CH; —(IZH— CH, —0C,Hs !12' CH, “l:H*CHz i . S p—

OH | OH

s | -

(&) 1-Frhoxy propan-2-ol ‘ (A) 1-UgTaR HI=-2-3i7el

(8) 3-Fthoxy propan-1-ol (8) 3-veril WIH-1-3iel

(C) Ethoxy pentanol (€ viRTt Yo

(D) 2-hydroxy-3-pentanone [ (D) 2-gTSgiaRil-3-UeHiA

IIH Emﬁ “IE I" ﬂ - 623403
| |
]
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i3 Rootoftheeguation 3y &+ 7iv + 6 = O

{A) 31, 21

-

8) Z
31

r

(C) (D)

o5

3

-

Which of the following does not have a|
metal carbon bond ?

W K[P(C,H,)Cl;] ® AI(OC;Hg);

@ C.H-MgBr © Ni(C0),

= If the arcs of same length in two circles
subtend angles of 60° and 75° at their

centres, then the ratio of their radii
(A & -7 B 6:7

)54 (D) 7:8

i
Which of the following is not a colligative
property ?
() Depression in freezing point
{8) Optical acbvity

iC) Relative lowering in vapour pressure

(D) Eievation in boiling point

The nucleus resulting from “~"UJ after |
-4

. I
successive emission of two q-particles and

four B-particles is

(&) 230 (8) 230
p Ra

gy = g8

(€ 230 ) 23
“Th v

- N

13

14

15

17

TP 302 4 Tix b6 - 0 D HA B
(8) 2
31, —i
3

(A) 3§ 2

o 3
31, —1
2

fpafafaa § O fdwd arg-ada 49 78
g2

W K[Pt(C,H,)Cl,)
®  AI(OC,Hs);
©  C,H;MgBr (@ Ni(CO),

A dMIE & 99 QA gl F b W

60° AR 75 F PO g & A A
gt @ Promist 1 s B -

(A) 4 @ 7 B)  : 7

€0 5 : 4 (@) 7 : 8

frefored § } IS T T € -
(A) fRdie &1 AT

(8) yoprea fopameieran

(O gryerd &1 ANfEe JaTa

(D) YD BT S=IA

EZSEU T A P TG AR BB B

FHIE IO & GRUTHESY g9+ drell
Tifye -

(A) 230 (8) 230
oaPU 85"
© 230 o 23
oTh o2V
Page: 5 - 623403



12 The length of the minute hand of a clock is | 1& TF g3l @ e arefl [ B AR "

14 cm. The area swept by the minute hand | 3 & | fFc aTel! & gNT 5 e
in 5 minutes. } Hax ¥y Q&7 & AT BN -
(A) 154 (8) 154 _ 8) 154
&3 227 em? ‘ (A) Eﬁ ( an
3 12 3 12
© 154 © 154 | , © 154
— cm? — cm? | ©; 154 = — ah?
9. f tanx + secx = \-§, such that | 19 ?Iﬁ tanx + secx = \§‘ (ﬂ—q&
0 < x < m, then x is equal to 0,().(;1,?{1 xaﬂm"i'&ﬂ"ﬂ—
() 5T @ X () 5m ® I
6 6 6 6
(© 2m (@ T (© 2n o 7
3 3 3 3
2 In a single throw of three dice, the|x & uRll & UHd IBIA § FI A 5
probability of getting a total of 5 I @ wffrear 8t -
(A) 5 8) 1 (A) 5 (B) 1
108 36 108 36
{© 5 (D) L@ 5 (D) 1
216 216 216 216
_ _ ] e 1 :
2" Realvalueof yandy,if *— > . Y =1 _, |2 =f2 r 1+y——7=i @ oy ARy @
3+i 3—1 34i 3—i
(a) -10, 12 (8 -2,5 qreafd® JE 8
© 7,-7 (D) -4, 6 A0, 12 8 -2, 5
© 7, -7 P) -4, 6

2. The length of a cold storage is double its|22 s g T8 &I m IS drers @
breadth. Its height is 3 metres. The area of AR | TP HAS 3 AT | g
its four walls (including doors) is 108 m?*. ARl ARI (SRaTal afed) &1 &A%d

Its volume will be 108 <2 & | G T &1 I@ad @nm -
(A) 416 m* B 316 m* AW 4165 B 31643
© 216 m? ©) 206 m? © 2164 0 20643

T




23

24.

D

A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is 5 Their equivalent focal
length is 30 cm. What are their individual

focal lengths in cm ?
(A) -10, 15

() -75,50

(8) 75, 50
(D) -15, 10

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 7560 m? (8) 6570 m?

(© 6750 m? (D) 5670 m?

In what ratio does the point (-4, 6) divide

the line segment joining the points A{-6, 10)

and B(3,-8) ?
(A)4:5 (8) 3:7
€ 2:7 (©)4:9

Three masses are placed on the x-axis : 300
gm at origin, 500 gm x at = 40 cm and 400
gm x at =70 cm. The distance of the centre

of mass from the origin is
(A) 40 cm (8) 30 cm

{C) 45 cm (D) 50 cm

Which of the following is not a good

23.

24,

25,

26.

27,

UF S o Aqqd o & qd H © |
O BEW gRAl & O BT
gRRATor %%Isﬁaﬁwmgﬁaqﬁ?ﬁrgﬁ
30 I & | SAB! A3 BB gul
W[ 7 8t -
(A) -0, 15

(€ -75, 50

(8) 75, 50
(b) -5, 10
Th PreeR @9 &1 9| 450 W ®

Wm'ﬂﬁl@:ﬁﬁmﬂﬁ:mzs
2 | PromeR &9 &1 &3%a anm -

(A 7560 =* B 6570 #°

© 675057 @) 5670 &

gl fd=g3ff A(-6, 10) T B(3, -8) &I
e arel Y@Ee @ g (-4, 6) fHa

U # dre -

(A) 4 : 5 (8) 3 :7

© 2 :7 D) 4:9

AN AN x-3E W, 300 gm P

fdg ®, 500 gm &1 x = 40 ¥ W
TAT 400 gm BT x = 70 I W W@ T

E‘mlr S THEE B qd fag 9 g
(A) 40 ¥ (8) 30 T
(© 45 ¥t (d) 50 T

fr=ferfad & 4 s W garas T8 § 2

conductor ? (A Cy =1g (8) NaCl(aq)
(A) Cu metal (8) NaCl
aCl(aq) (© NaCl(s) () NaCl (e zon)
(© NaCl(s) (o) NaCl (molten)
om0 Page: 7 623403



%8 Percentage errors in the measurements of 28 G&IATT

K

mass and speed are 2% and 3% respectively. |
The error in the estimate of kinetic energv‘

obtained by measuring mass and speed will
be

(A) 10%
€ 2%

(B) 8% |
(D) 12%

Nessler's reagent is used for the detection of
) Ccy2e (8 NH;

© Na* o K*

In Friedel Crafts aikylation, besides AIC[;,

the other reactants are
‘” CtHc =+ NH; {B] CGHG '1* CH3C!I

© C.H, + CH.COCl
®) CH, ~ CH,

Which ore contains both iron and copper ?
{A) Cuprite (B) Chalcopyrite

{T) Chalcocite (D) Malachite

A 25 watt -220 volt bulb and a 100 watt
-220 voit bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(&) Both will glow with same brightness

(B) 25 watt bulb

Q) First 25 watt bulb and then 100 watt
bulb

(D) 100 watt bulb

N

29.

31.

32.

IR 3%
AR Al
aFa A Ffe Bl -
(A 10%
© 2% (D) 12%

AIRY AMEHE B ST Il oI &

forg gram

(A cu?t (8)  NH;

(€ Nat (0 K*

Hed HUC & TedleldRoT 4 Alc), &
AT ANPRD & -

(A)  CcH + NH;

8)  C.Hg + CH;ClI

(©  C.Hg + CH5COCI

)  C.H, + CH,

59 e s A reT I diET ST &7
(A) FgyTSe (B) GreHIUTARTSC

(Q FTepRIZE (0) Herarge

25 qic -220 diec HT UH dod BT 100
qie 220 dlce & IR dod A Ao F

SIS T Reg @9 uar) @ el
I ® | BN AT ged AfE FHSM 2
(A) T go9 THE THSY |

(B) 25 qre &7 gog

(© ggd 25 qre &1 ge9 by 100 aTe &
dod

) 100 dre &7 99

Page: §



33 The molarity of pure water is (density of
water =1 gm L*l‘

(A) 44.4 M (B) 55.55 M
(C) 66.66 M (D) 4555 m
3 The water droplets in free fall are spherical
due to
(A} Gravity (B) Viscosity

(C) Surface tension

(D) Intermolecular attraction

3 The work done in placing a charge of

8 X 107!¥ Coulomb on a capacitor of

capacity 100 microfarad is
(A 16 x 10732 joule

® 31 x 1072¢ Joule
© 4 x 1079 joule

©) 32 x 10732 Joule

Which of the following behaves both as
nucleophile as well as an electrophile ?

(W CH,Cl (8 CH;CN

(© CH,OH (°) CH;CHO

A body cools from80°C to64°C in 5

minutes and same body cools from 80 °C to

i33

36.

37.

sgacraaﬁq‘rm%(waﬁm

gm LY
(A 444 M (B) 5555 M
(€ 66.66 M (D) 4555 M

- 100 HISHIBE ailRar & JuRE

8 x 1078 PAM FHT AQY & F Frd
HAT BRI -
A 16 x 10732 o

Bl 31 x 10726
19 sx g 9@
(o)

32 x 10732 S

f|r # @ [ AeeE qen
TAGSIAETE! SFI B AN P HRAT & ?
(A} CH5CI (8)  CH;CN

(©  CH,0H () CH,CHO

th e goeoc & gacc IF IUST 5
e § a1 & 9or 98 e gooc @

S2°C in 10 minutes. What is the 52°C d® ovsT 10 e ¥ B
ings ?
temperature of surroundings ? AT $ qIGTGROT BT 919 BRI -
(a) 22 °C (8) 25 °C
(A 22°C (8  25°C
(© ° (o) i
24.°C 28%C (©) 24 °C (D) 28 °C
S s 623403
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¥ Ina AABC, AB= (yv3com

BC =6 cm, then the angle B is
{A) 45 (8) 120°

€ 60° (©) 90°

w An artificial satellite moving in a circular
orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

AC=12cmand % @ B AABC . AB

e
— —

6V3 Wt
AC = 12 T T BC = 6 W @
FT B ®1 AF BN
(A 45° 8 120°
© 60° (@) 90°

e HEM IUE W Rl S ar} g
qieR T T A T B g
wo (Refast @ TS el po§

WY

A 15E, ® 2E, e Rafost o gnft -
© —E, © E, @ 15E, B 2E,
© -E, © E,
f y=3_2.3then xi+ Lwillbe | o3 T A 2. ly
x- x<
(&) 24 {8) 34 q= B -
(€) 30 D) 36 (A) 24 (8) 34
(© 30 (D) 38
. Page: 10
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SECTION - II
FASHION DESIGN & GARMENT TECHNOLOGY

Stitches of stitching/sewing machine are
enlarged or shortened by -

{A) take up lever (B) pressure bar
(C) thread-tension device

0) stitch-regular screw

Yoke' s following part of garment : 42
iA) lower/bottom part

(B] Middle part

(T Side part (D) Top part

Hemp' is a type of 43,

(8) Natural fabric
(D) Man-made fabric

(&) Mineral fabric

|
i€} None of these [
|
|

What are the numbers of stages in a Fashion | 44.

whee! ?
(A] 6

Ic 4

8 5 \
(D) 3 '

For a fatty man/woman which type of line 45
dress |s most suitable ?

(4] verncal lines (B) V-shaper lines

€} Curve lines (D) horizontal lines

If the measurement of chest is 36 inch then, | 46
Neck will be (for a general man)
@) 16 ® 12~

a 14 o) 15~
The needle used for sttching of canvass | 47
suitcase |s

(A) 24 nurnber (B) S number

(€) & number (D) 2 number

T

" - II
bv fewTga goe MAve 2EEiaTAl
Riamg 799 & el & vler ud a3
far wran € -
(A) 2F-39 oftaxr A B) JIR 4R W
€ Pre-2vH fEarzr A
© ReaTeler & @
AF e B FAEfRed wr g @
(A) T FT (8) &g &1
© fFTR F7 ) FIR FT

T T T U gBR Bl -

() grg Y B) grpfae em
© 79 & 1 98 0 wHg-FT o
BIF el H JaeATY e 2t & 2
(A g B 5

(€ 4 (o) 3

TS A1 R/ & U fh TeR a5t
oTFT dlefl S 1fre Sugea § -

(A) =gt g

@) “4Y I F FEn

(© T YTy (©) gt ¥rd

afe ol @ AT 36 FH oA A M F
A9 B - (A 9oy § for)

A 16" 8 12~

@ 14 (o 157

FAN & qedu & Re b forg g
g wd @

(&) 24 R (B) 5 Frqy

€ 8 Hqu (0) 2 Fwgv

Page 1] o o
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>mocking’ 1« ysed

(A} Pam

N tollowing garment
®) frock

1O Shalwar D} Shant

Which ‘dart s used in Frock’ >
(&) None of thewe ®) French dart

{C) Slash dart i0) Plain dart

‘Origin of Fashion is related to which part of
the world 7
&) Africa &) Asia

iC) Europe fO) Amernica

"0 - 27 Needie is used in
& Georgette work  (8) Quilt mattress
0 Cotton cloth (@) None of these |

Image resolution 1s
A Pixel per inch
(8 Pixel per sguare inch

(€} Dots per pixel {©) None of these J

What 1s standard size of pressing table ? ‘
iA) Length - S feet, height 30", width 24"

(8) Length - S feet, height 36", width 27" |

G Length - 4 feet, height 36", width 27"
(D) Length - 4 feet, height 30", width 24" |

[l

AR

0

51

53.

enf¥r o w1 a98 & fou fag

am 2 =
© AR A ©) ¥ ¥

wip A feu gwmT ® é &1 g

fdar wran & 2
A gy A BrE A @ g e

© 3o &d © o 3
o # SRy Rea ¥ P A # o

arft & 2
(8) gfdar

() arhtaT
© R ©) AR

70 - 27 qs B AR fRar Swar
(B) ITE-TTEE
) 3= I BI5 &

A FRee ¥
© it s9

S XY '
A ARy ufa a9

®) R ufa avf 9
© zrew iy e
0) T I B T&

99 2fdd B "Ee "9 R & 2
NN - 5 Ble, ars 307, drers

24’
BleTS - 5 Wie, Ja$ - 367, AR

27"

OFEE - 4 We, Fag 367, A
27!!

OIgaré - 4 B, FarE - 307, drerE
24"

Page: 12

bl



55

|

What is Full form of ‘CAD’ ?
(A) Controlled Access Design

(8) Computer Aided Department
(©) Computer Aided Design

(D) Computer Access Design

Shears are used -
(A) for stitching

(8) for cutting/trimming

(€) For measuring (D) for making design

In drafting the ‘symbol’ used ‘N.W.’ denotes -

(A) Women neck (B) Natural waist
(€ Cloth warp in length

(D) cloth warp in width

A hardware device that is capable of
executing a sequence of instruction is called
(A) Processor (8) CPU

(€ CU (D) ALU

MICR stand for
(A) Magnetic Ink Character Reader

(8) None of these
(€} Magnetic Ink Code Reader
(D) Magnetic Ink Cheque Reader

‘Flap’ is used in -

i&.

55.

58.

59.

‘CAD’ &1 B B &1 BT ?
W Fies e feomsT
(B) Frger tes fyurdie
€ Fger vee Reig
(D) HRYY IFT@FH f@:ﬂﬁ§1

Rt &1 w3 v rar &

(A Ryerg w1 #
® FRRFE e §
© 99 o9 & D) f&orzq a9 #

ST § wga e N.w. @ &
&

(A) HFATAT BT TAT

(B) HY ¥ N TP

(€ FYL & T AT H

(0) HYS &1 dET drers o

- UH FeIR feargw W fdw & argww

P frefed oxa § wEm B & 99 Ber
SIS
(A) YRR

(€ 3.

(8 Ardryg.
() TUAg,
MICR @1 Hddld &

(A e 3 Iy d=x

(B) $9 W BIg TE

© fes & e =X

P) FHfeH 36 P A=)

Teld BT ST Bl ?

(4) Sleeve (8) Pocket (A) wflg | () Uihe H
(© Collar (D) Neck (© PR § D) 35 §
Page: 13
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o [ —
| : et
% The psychological effects of ‘orange’ colour |60 A&l I & FORI @I L

is ¥ ..
(A) Eco-friendly, Fertility, Good Luck etc. IME@?ﬁ'{ > q’:]fﬂ?ﬂi—m FATgahdT,
(B) Happiness, Proud, Intelligency etc. areg W I |
(€©) Enthusiasm, Bravery, Knowledge etc. (8) w{=dl, T, W sa‘nfc’.' I
(D) Cool, Peace, Trust etc. (© IcaTE, gETgd, S s |
(0) gugl, wfd, gt afe
61. Word ‘Pert-o-porter’ is related to o TG AE-AFUEY BN WEH g - .
(A) cotton dress (8) woolen dress () 3 aEl L (8) i g W
[€) readymade dress (D) fancy dress © ¥ s v (0 =it g&t
52 ‘Needle Board' is used for o2 Aieed 41 BT WA fHar e @ -
(A) Embroidery (8) Keeping needles (A) FaTS T & forg
(€) Pressing (D) None of these (8) ggar v b forg
© ¥ T b g
(©) 3T T P T
s2 “Fly is used for & TS BT SN fHaAr S ®
(A) covering pocket (A) 9§ P @B & felv
(8) covering button or zip ® g IT 929 P B & faIg
(C) for opening (D) None of these © T H & forg
() T A PBIg qE
s ‘Boutique’ is the place where exhibition is |6 g&l& d8 WTE & 9 uedi i ol @ -
carried out for - (A) ISHE HUST Bl
(A) readymade dress and garments ® g w® e ad Bt B
(8) sale on discount @ é’ﬁ'@‘l‘\’ i
(C) designers dress (D) antique dress ' ) T B B BIE B
65 Length of measuring tape is 65 HYF ST BI ¥ 4TS Bl &
(A) 60 inch (B) 64 inch (A) 60 39 (B) 64 T
(© 62 inch (D) 68 inch @ 62 39 (0) 68 g9

\
|
|
|||
\
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.
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69

73

U

Measurement of Drafting table is

(A) None of these B) 6 x 4" x 3
@ 4" X6 X3 0 3 x¢ x g
The sign of ‘more padding’ is

(A) ++ (B) enrrnnnn—s

c) # (D) -

Confidential pocket of men’s pant is called
(A) Welt pocket (8) Side pocket

67.

68.

[ e

(A) g & $I 781 B) 6" x 4’ x 3

© 4" x6" x3 I3 x6 X6

e qo™ B fe & & -
(A) 44

) #

goul & que F wANT @ WM el e
S HEATH § -

(€) Watch pocket (D) Slant pocket (A) doe Yide (8) ¥rge Yidhe
(© qrg dipe (D) ¥dve gide
The number of heads in the ‘Fashion figure’ | 69. HIE e § 2 9 e G
is (A) g (8) 10
B
(A) 9 (8) 10 © g (D) 1
@ 8 (0) 11
In followings which is not a ‘body type’ ? o 9 F [ B W are ety A48 & 2
(A) Plus size (B) Pear shape (A) T TS (8) Rz 9
(€ culmination figure (D) Hour glass figure © RrR (FfeweE) R
(0) 3aR TR R
The size of ‘L’ scale sides is . UA Thd P Homalt @ A7 & -
(A) 8" x 16" (® 5" x 10" (A) 8" x 16" (8) 5” % 10"
© 127 x 24" @) 10” x 20" (c) 12”7 x 24" ®© 10" x 20"
If the waist is more than the size of chest|72. If¥ BTt Ud 89 &1 em $H BT WM
and hip, then this figure is called as WP A & B, O BT & -
(A) Stout figure (B) Stooping figure (A) wree R (8) ¥ R
(©) Corpulent figure (P) Erect figure (c) _ﬂ‘{@? PR (D) RNae R
The body of a general/normal man is divided | 72. fpefi IMaT=1 A & IR D qle] rar
to '%
(A) 8 parts (8) 7 parts (&) 8 HI H (B) 7 Wy §
(€) 6 parts (D) 5 parts (© 6 W H () 5 HAY H
Page: 15 623403
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a

o

B1.

T

What is the factor which affect fashion ?
(A) Economic status (8) Political status

(€ All (D) Climate

Who invented sewing machine ?
(A) Usha (B) Alias Hope

(©) Singer (D) Charles Senthal

According to Indian standard generally
length of Man is
{A} 5J6n

(B, 5!4!]

© 5'8" (©) 5'10”
What is the standard measurement of
‘waist’ for a child aged 5 to 6 year ?

(A) 18 inch (B) 24 inch
{€) 20 inch {8} 22 inch

Which of the following is most durable stitch
made by stitching/sewing machine ?
(A) Lock stitch (8) None of these

(C) Zig-zag stitch (D} Chain stitch

Embroidery waork
number needle.

is done by

(A) 11and 14 (B) 21 and 24
() 9and 11 (D) 9 and 24
Whatis ‘QC’' ?

(A) Quality cost (B) Quality control

() Quality customer (D) Quality concept

The number of darts in the simple blouse is
(A) 6 (8) 10

()9 (D) 7

-

v A P IR B AT RS §

@ aftfe Rafy  ® Jomfas Rafa

© @ (D) SAdTY
75.ﬁ{aﬁqﬁﬁﬁ?ﬁlﬁﬁ’7ﬂ#3ﬁ?

{A] w (B) 'Qﬁ-ﬂ?@q

© RIMR (D) gred e

R WAE P ITAR GOul Bl A
TS Bt § -

(a) 56" (8) 54"
(© 58" (0 510"

7.6 Y 6 da¥ F 9= D DR D AED
A9 BN
(A) 18 39 (8) 24 g4
(© 20 9 () 22 g9

7 Ry wF $ ER B TE WaW woigd
Refim o9 @ &xit © ?
() & Rea @) 399 I PF AL
© Ry e 0 I9 Red

7 fhT THY B G A BIE BT BH (bl
ST & 2
(A) 11 9 14 (B) 21 9 24
© g g () 9 24

8. QC W & ?
(A) Fqrferd ®ie (B) garferd! ol

© Farferdt semR (D) FEIferd) A<

8. [HERY &A%l § Sl T Sed @
@& B ® -

(A) 6 (8) 10
€ o (D) 7



The famous work of Lucknow is
(A) Block print work  (8) Chikan work |

() Patch work (0) Applic work

_ The chest size of 3-4 years old child is

83
generally
(A) 26 inches (B) 28 inches
() 18 inches (D) 22 inches

Which of the following materials fibre
contains largest abrasion resistance ?
(A) Wool (8) Cotton

(c) Silk (D) Nylon
‘Quilting” is an art used in
(A) Pattern making  (B) Sewing

(O Trimming (D) Measurement

- For‘Body rise’ of the children, the correct

83

@S B frg F dA 2

A ofip e q& B e 96

© ¥q q& (0) tgeftd dd
UHRIT 3-4 W & qed F e B
9 B & -

(A) 26 gq (B) 28 ¥4

© 18 g9 (@) 22 39

- formae-sfRve wew afE frw W A
g & 2

(A 9 (8) HUry

© Ryep (D) ATgeAT
fdfer & wer & @ 5 wgE @
Wl ® -

A fed g & B Ryers

(© ffifr 3 (0) H

gl & OWR 9fE B fow v g ¥ H

formula is (H is measurement of Hip) féa @ 7y @)
@ H ® H 1" W H 3 ® H g
o =4 2~ T+ 20 i
4 4 72 4 P : 2
@ H 1 (o) H (© " o) H
T T —+ 3" l_-l,+21 —+ 3"
4 "4 4 4 "4 4
s Tracing wheel’ is used 87. SRFT e BT gART fhar wiar & -
(A) for stitching (8) for marking A e & F§ B) e a3
(€) for cutting pattern (D) for making design © Y dreq § (D) feomgs a7 &
& A collection of related data is known as 8. W ST &1 Us §UE 2
(A) Information (A) TN
(8) Valuzble information (B) Hewaqul SpHTH
(€) Database (D) Metadata O grer a9 (D) Fer grer
Page: 17 623403
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-4l

'W’Wmaaa?ﬂ.%_

‘Kimono' is a sort of : 89,
(4) collar (8) pocket (A Bl (8) gidc
(©) sleeve ;' € IR (D) HH
(D) wrist part of sleeve :
‘Pleats’ are used in dress making - %0 TexT H1 JAN I fofor # @ed & -
(A) All of these (A it
(8) To give good shape of dress 8) gy P o g A FH
(€) for fitting and fullness of dress ©gey § fpfeT @ ﬂﬁlﬂi?ﬂ aM & fag
(D) To set small part with big part () g2 g Br BIe U¢ & A A B
% forg
What is Tucks’ - o TH FTE ?,
(A) A types of pattern A) 75 TBR &1 Y
(8) A part of sewing machine ® s 7= &1 W
(C) Fancy seams (D) Types of sleeve © = f9
(D) IR BT TP
The internal part of machine among|9 e # ¥ weH ¥ sfex @1 oIl B ©
following is (A) YIR BT (B) It
(A) pressure foot (8) Shuttle (€ we-sr (D) Hiedd R
(€} Feed-dog (D) Needle bar
The parts of sewing machine used for|es. ﬁﬁl‘l‘ﬁ 7 BT Eﬁf A PO B AWM
forwarding the cloth is WS 8, FEAT © -
(A) Feed Dog (8) Tension stud (A) s ST (B) 29H TS
(C) Feed Horse (p) Slide plate © B 2Rt (D) ¥ATES Wic
‘French curve’ is used for % d5g bd B FAN Bl
(A) Making line (8) Making design A T § (8 IS g H
(©) Making curve/Round shape (© Mg g9 & (0) Yot g #
(D) Making pattern
Page: 18
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& According to tailoring which one is not
correct?
() Length of standard body is 5'4"
(8) Length of hand is 2 times face length.

c) Length of faceis 8"

(o) Length of leg is 4 times of face length.

Which one is not a decorative stitch among
the following ?
(Al Loop and Blanket Stitches

) Herring Bone Stitch

i) Fish Bone Stitch (D) Surgical Stitch

- Which software is used for designing ?
ia) Tally software (B) Picasa software
{0) Vista system software

) Microsoft power point

Light should come at the time of working
with machine

{4} from both side (8) from right

() from top (D) from left

Which is not application software ?
() None of these (8) PageMaker

(€) Photoshop (D) Windows NT

% 0nmixing of ‘Red’ and ‘Blue’ colours, we get
(A) Green (8) Sky blue

() Violet/Purple (D) Black

T

% 2afm & R foa 4 v A T
Wafky @) WA owaré 547 Bl

VRN F g1, Ry P T BT 2
A Edt @
O%By @ ofigrs g a2 |

O @ o TS, dEY P TS BT 4
T A &

r = &% @ B gonad e TEF & 2
A) U IR wihe Red

® 2R 4 Req

© fhy 9 Reg (D) wffda Red

o7 P ¥ ¥ B @ airedR Remsfir &
ferg s fan < @ 2

() ft (8) foepran
© faeg
() HEZHNITE TR @Isc
® MY W B A G ALE AF!
91fey
A iR ¥ (B) I RE A
€ TR A ) grff RE A

o ol & ¥ I W TElSITE
AT Tal © ?
(A) T ¥ B 2 B) IoHER

(©) IR (D) faerr .8

100. ATl AR AT I BT Bdm W 9 Bl
; 4

(A) &1 (®) e lell
L §TR (0) el
_P:ge__—_f
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